Supplementary Table S3. Paired t-test run by type of remodeling (canine without remodeling, canine with dental remodeling, and canine with dental and gingival remodeling).
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Statistics/bata analysis

User: Type of remodeling
Project: Type of remodeling

-> TYPEOFREMODELING =
no observations

-> TYPEOFREMODELING = Dental and gingival remodeling

Paired t test

Variable obs Mean  Std. err. Std. dev. [95% conf. interval]
MEAN 16 6.589286  .2291563  .8574243  6.094224  7.684348
_cMEAN 14 5.892857  .3997436  1.495764  5.029264  6.756451
diff 16 .6964286  .3840252  1.436891 -.1332075  1.526065
mean(diff) = mean(MEAN - _cMEAN) t= 1.8135

Ho: mean(diff) = @ Degrees of freedom = 13

Ha: mean(diff) < @

Ha: mean(diff) 1= @
Pr(T < t) = 0.9536

Pr(|T] > [t]) = 0.0929

Ha: mean(diff) > @
Pr(T > t) = 6.6464

-> TYPEOFREMODELING = Dental remodeling

Paired t test

Variable obs Mean  Std. err. Std. dev. [95% conf. interval]
MEAN 18 6.085556  .3068509  1.361858  5.438157  6.732954
_cMEAN 18 6.105278  .3368759  1.429243  5.394532  6.816024
diff 18 -.0197222  .4069863  1.726696 -.8783882  .8389437
mean(diff) = mean(MEAN - _cMEAN) t= -0.0485

Ho: mean(diff) = @ Degrees of freedom = 17

Ha: mean(diff) < @

Ha: mean(diff)
Pr(T < t) = 0.4816

o
Pr(|T] > [t]) = 0.9619

Ha: mean(diff) > @
Pr(T > t) = 6.519

-> TYPEOFREMODELING = No remodeling

Paired t test

Variable obs Mean  Std. err. Std. dev. [95% conf. interval]
MEAN 14 4.474286 4053471  1.51667  3.598587  5.349985
_cMEAN 16 6.817143  .3452972  1.291984  6.671174  7.563112
diff 16 -2.342857 4092669  1.531336 -3.227024  -1.45869
mean(diff) = mean(MEAN - _CMEAN) t= -5.7285

Ho: mean(diff) = @ Degrees of freedom = 13
Ha: mean(diff) < @ Ha: mean(diff) 1= @ Ha: mean(diff) > @
Pr(T < t) = 0.0008 pr(IT| > |t]) = 6.6061 Pr(T > t) = 1.6660





